This report contains the transfers results.

Contest Name

Ward 7 - East Kilbride Central South

Valid Votes
Positions to be Filled
Quota

5,202 3 1,301

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John ANDERSON	Scottish National Party (SNP)	1,570
Rita BAILLIE	Alba Party for independence	66
Lorna CAMMOCK	Scottish Liberal Democrats	138
Gerry CONVERY	Scottish Labour Party	1,387
Alan James CRESSWELL	Scottish Greens - Think Global Act Local	202
Alan FRASER	Scottish Conservative and Unionist	473
David MACKAY	UKIP	30
Elaine MCDOUGALL	Scottish National Party (SNP)	713
Lisa QUARRELL	Scottish Labour Party	623
	Tota	5,202

Candidate John ANDERSON Elected with 1,570 votes, being in excess of the quota of 1,301 Candidate Gerry CONVERY Elected with 1,387 votes, being in excess of the quota of 1,301

This report contains the transfers results.

Stage 2 - Surplus of John ANDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rita BAILLIE	48	0.17133	8.22384
Transfer to Lorna CAMMOCK	32	0.17133	5.48256
Transfer to Alan James CRESSWELL	156	0.17133	26.72748
Transfer to Alan FRASER	8	0.17133	1.37064
Transfer to Elaine MCDOUGALL	1,157	0.17133	198.22881
Transfer to Lisa QUARRELL	55	0.17133	9.42315
No further preference	111	0.17133	19.01763
Not transferred due to rounding			0.01190
	Total		269.00000

This report contains the transfers results.

Stage 3 - Surplus of Gerry CONVERY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lorna CAMMOCK	67	0.06200	4.15400
Transfer to Alan James CRESSWELL	52	0.06200	3.22400
Transfer to Alan FRASER	99	0.06200	6.13800
Transfer to Elaine MCDOUGALL	71	0.06200	4.40200
Transfer to Lisa QUARRELL	871	0.06200	54.00200
No further preference	199	0.06200	12.33800
Not transferred due to rounding			0.00600
	Total		86.00000

This report contains the transfers results.

Stage 4 - Exclusion of David MACKAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rita BAILLIE	•	1.00000	1.00000
Transfer to Lorna CAMMOCK	4	1.00000	4.00000
Transfer to Alan James CRESSWELL	;	1.00000	3.00000
Transfer to Alan FRASER	(1.00000	6.00000
Transfer to Elaine MCDOUGALL	;	1.00000	3.00000
Transfer to Lisa QUARRELL	7	1.00000	7.00000
Transfer to Elaine MCDOUGALL	•	0.17133	0.17133
Transfer to Lisa QUARRELL	•	0.17133	0.17133
Transfer to Rita BAILLIE	2	0.06200	0.12400
Transfer to Lorna CAMMOCK	•	0.06200	0.06200
Transfer to Alan FRASER	2	0.06200	0.12400
Transfer to Elaine MCDOUGALL	•	0.06200	0.06200
Transfer to Lisa QUARRELL	(0.06200	0.37200
No further preference	(1.00000	6.00000
No further preference	•	0.17133	0.17133
No further preference	2	0.06200	0.12400
Not transferred due to rounding			0.00000
	Total		31.38199

This report contains the transfers results.

Stage 5 - Exclusion of Rita BAILLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lorna CAMMOCK	5	1.00000	5.00000
Transfer to Alan James CRESSWELL	8	1.00000	8.00000
Transfer to Alan FRASER	2	1.00000	2.00000
Transfer to Elaine MCDOUGALL	29	1.00000	29.00000
Transfer to Lisa QUARRELL	6	1.00000	6.00000
Transfer to Lorna CAMMOCK	2	0.17133	0.34266
Transfer to Alan James CRESSWELL	18	0.17133	3.08394
Transfer to Alan FRASER	1	0.17133	0.17133
Transfer to Elaine MCDOUGALL	17	0.17133	2.91261
Transfer to Lisa QUARRELL	1	0.17133	0.17133
Transfer to Lorna CAMMOCK	2	0.06200	0.12400
Transfer to Alan James CRESSWELL	1	0.06200	0.06200
Transfer to Lisa QUARRELL	3	0.06200	0.18600
No further preference	17	1.00000	17.00000
No further preference	9	0.17133	1.54197
No further preference	10	0.06200	0.62000
Not transferred due to rounding			0.00000
	Total		76.21584

This report contains the transfers results.

Stage 6 - Exclusion of Lorna CAMMOCK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan James CRESSWELL	32	1.00000	32.00000
Transfer to Alan FRASER	27	1.00000	27.00000
Transfer to Elaine MCDOUGALL	3	1.00000	3.00000
Transfer to Lisa QUARRELL	43	1.00000	43.00000
Transfer to Alan James CRESSWELL	9	0.17133	1.54197
Transfer to Alan FRASER	1	0.17133	0.17133
Transfer to Elaine MCDOUGALL	10	0.17133	1.71330
Transfer to Lisa QUARRELL	1	0.17133	0.17133
Transfer to Alan James CRESSWELL	11	0.06200	0.68200
Transfer to Alan FRASER	14	0.06200	0.86800
Transfer to Elaine MCDOUGALL	2	0.06200	0.12400
Transfer to Lisa QUARRELL	23	0.06200	1.42600
No further preference	42	1.00000	42.00000
No further preference	13	0.17133	2.22729
No further preference	20	0.06200	1.24000
Not transferred due to rounding			0.00000
	Total		157.16522

This report contains the transfers results.

Stage 7 - Exclusion of Alan James CRESSWELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan FRASER	9	1.00000	9.00000
Transfer to Elaine MCDOUGALL	117	1.00000	117.00000
Transfer to Lisa QUARRELL	36	1.00000	36.00000
Transfer to Alan FRASER	1	0.17133	0.17133
Transfer to Elaine MCDOUGALL	109	0.17133	18.67497
Transfer to Lisa QUARRELL	9	0.17133	1.54197
Transfer to Alan FRASER	4	0.06200	0.24800
Transfer to Elaine MCDOUGALL	8	0.06200	0.49600
Transfer to Lisa QUARRELL	22	0.06200	1.36400
No further preference	83	1.00000	83.00000
No further preference	64	0.17133	10.96512
No further preference	30	0.06200	1.86000
Not transferred due to rounding			0.00000
	Total		280.32139

This report contains the transfers results.

Stage 8 - Exclusion of Alan FRASER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine MCDOUGALL	8	1.00000	8.00000
Transfer to Lisa QUARRELL	190	1.00000	190.00000
Transfer to Elaine MCDOUGALL	6	0.17133	1.02798
Transfer to Lisa QUARRELL	1	0.17133	0.17133
Transfer to Elaine MCDOUGALL	4	0.06200	0.24800
Transfer to Lisa QUARRELL	63	0.06200	3.90600
No further preference	319	1.00000	319.00000
No further preference	4	0.17133	0.68532
No further preference	52	0.06200	3.22400
Not transferred due to rounding			0.00000
	Total		526.26263

This report contains the transfers results.

Stage 9 - Exclusion of Lisa QUARRELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine MCDOUGALL	171	1.00000	171.00000
Transfer to Elaine MCDOUGALL	24	0.17133	4.11192
Transfer to Elaine MCDOUGALL	134	0.06200	8.30800
No further preference	734	1.00000	734.00000
No further preference	44	0.17133	7.53852
No further preference	854	0.06200	52.94800
Not transferred due to rounding			0.00000
	Total		977.90644